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import java.util.*;

public class Example {
public static void main(String[] args) {
Scanner input =new Scanner(System.in);
System.out.print("¥= =AF: ");

int number = input.nextInt();

if(number>0)

System.out.print("QF£QUL|CH.");
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g import java.util.*;

§ public class Example {

public static void main(String[] args) {

Scanner input =new Scanner(System.in);

System.out.print("& =z}: ");

int number = input.nextInt();

if(number>0)

System.out.print("$QIL|CE");

if(number<0)

System.out.print("24QiL|C}.");
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1 g import java.util.*;

3 g public class Example {

4 g public static void main(String[] args) {
5 g Scanner input =new Scanner(System.in);
7 System.out.print("= =2Z}: ");

8 g int number = input.nextInt();

10 g if (number>0)

1 System.out.print("2QIL|Ct.");

12 % else

13 § System.out.print("S 5+ L|Ct.");
14}

15 : }
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import java.util.*;

public class Example {
public static void main(String[] args) {

Scanner input =new Scanner(System.in);

System.out.print("¥a& £A}t: ");

int number = input.nextInt();

if(number>0)
System.out.print("¥$+AUL|CE.");
else if(number<®)
System.out.print("S+YLICt.");
else

System.out.print("0QYL|C}.");




1f(number>0 && number¥%2 == 0)

")

System.out.print("¥L0|HA

System.out.println("&+YL|CE.");
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1f(number>0)

{

System.out.print("F+0|HA ");
1f(number%2 == 0)

System.out.printin("&+YL|C}.");

else

System.out.println("E£YUL|CE.");

}
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switch (number) {
case 5:

System.out.println("5¥L|C}.");

case 4:
System.out.println("4QL|C}.");

case 3: a4
System.out.println("3QL|Ct."); 1~5 AFO|O] AR QIBBIAIQ : 3

case 2: 301L|C}.
System.out.printin("2QIL|C}."); 20IL|C}.

case 1: 1QIL|C}.
System.out.println("1L|C}."); Hol2 g fLtL|LC}.

default:

System.out.println("#H & B0{LLICL.");

}
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switch (number) {

case 5:
System.out.println("5QL|C}.");
break;

case 4:
System.out.println("4QL|C}.");
break;

case 3:

System.out.println("3QL|C}.");

break;
case 2:

System.out.println("2QL|C}.");

=it

1~5 ALO|Q] =AE

break; 39IL|C}.
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case 1:
System.out.printin("1L|C}.");
break;

default:
System.out.println("E€2|E HO{IL|CL.");

h
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public class Example {

public static void main(String[] args) {

String week = “"Wednesday";

if (week == "Monday")
System.out.printin("S 2UAL|C}.");
else if (week == "Tuesday")
System.out.printin("St LAJUL|CE.");
else if (week == "Wednesday")
System.out.printin("£Q UQL|C}.");
else if (week == "Thursday")
System.out.printin("=S 2UAJAL|C}.");
else if (week == “Friday")
System.out.println("g2LAL|C.");
else if (week == “Saturday")
System.out.printin("EQ UAUL|CE.");
else if (week == "Sunday")
System.out.printin("2L AAL|CE.");
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